WHERE DOES A MATHEMATICIAN

PICK HIS DERIVATIVES?
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Match each derivative fi(x) with a graph of line segments tangent to possible functions f(x).
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Slope fields.
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9) Which of the functions f(x) below would satisfy f(x) = x2.

3x8 +cC

—
£
ot >
o N
gnU*1.
hjzl g
<l
2 |el¥
w— i
m..T..
= = I
Bl *
L
e
[72]
o118
+lal ..
22}
X 1ol &~
=l “m ] 1ﬂ
__\;H:O,
<
= |E ==
= Il
Of
i
Ol8la
%m ~—
o)
Cumﬂ./
e &
O D
+
o
o 151 L
x | & --
o —Ix
—~ o]
X lc
= lEl %
=i
SRS
=l =
WJI
=
S1El -
% 5| =
1_2%-’
a | o] X
\./h__
X.m)
o)l X
fM(
. G
< —
o
-

L.

Functions f(x).
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